Sr Questions Answers Choice

. Is positive

. Is negative

. Is zero

. Is decreasing

1 When total product is maximum, marginal product

. Is positive

. Is negative

. May be positive or negative
. Is zero

2 When total product increases, marginal product

. Increases

. Is zero

. Is equal to average product
. Is less than average product

3 When average product decreases, marginal product

Equal to average product
More than average product
Less than average product
Zero

4 When average product is maximum, marginal product is

Decreases

Is zero

. Is negative

. Also increases

5 When average product increase, marginal product
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